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NOTE: Attempt any 5 questions (10 points for each question)

Q1. In electronics, what is a capacitor, and what does it consist of?
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Q2. Identify the measuring units and abbreviation for 5 of the following electrical parameters:

Electrical Measuring units Abbreviation
parameters
Voltage \/o H_ \/
Eurfem Ampere A, o P

esistance

Ohwm il

Capacitance oo =

har,
o Conlorm b a
Inductance H eny b H
Impedance O }1 ﬂ

m

Frequency H 0 Y'{"é H'E—

Q3. In series R-L-C circuits, why does the value of the phase shift (8) change from negative to
positive when we increase the frequency?
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Q4. What are the applications of a series R-L circuit?
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Q5. A resistor R (1 k) and an inductor L (100 mH) are connected in series, supplied by an AC
voltage of Vp.p. 5V and frequency of 500 Hz. Draw the circuit in detail and calculate the

current?
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Q6. A resistor R (1 kQ) and a capacitor C (0.1 pF) are connected in series, supplied by an AC
voltage of Vp.p. =5 V and a frequency of 1 kHz. Draw the circuit in detail and calculate the

phase difference between the voltage across the capacitor and current?
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